

MORMUGAO PORT TRUST ENGINEERING (CIVIL) DEPARTMENT.

QUOTATION NOTICE

QUOTATION NO. CE/Q - 58 (R2)/ 2021

DIRECTIONS TO TENDERERS FOR FILLING THE SCHEDULE OF QUANTITIES & RATES.

- 1. Tenderers are required to fill in their percentage rate at the end of the Schedule of Quantities & Rates, in the space provided for the purpose and unless this is done, their tender will not be considered. Only one percentage rate on all Rates of Schedule of Quantities & Rates shall be named.
- 2. The Percentage Rate inserted shall hold good for all works under this contract, without reference to quantity or location of the work or the variation in the estimated quantity.
- 3. Quantity of each item of work mentioned in the Schedule, should be noted and the Percentage rate worked out carefully, having regard to the specifications before submitting the tender, as no variation in rates etc. will be allowed on any ground such as mistake or misunderstanding etc. after the tender has been submitted. The percentage rate, above or below the Schedule/Estimated rate, indicated at the end of the Schedule of Quantities & Rates, will apply to each item, of the tender and any excess in the item that may be directed to be executed by the Chief Engineer.
- 4. Tenderers are requested to note that though the contract is for item rate, they are required to add or deduct the amount due to this percentage, as the, case may be and work out the final figures (amount of their tenders), at the end of the Schedule of Quantities & Rates.
- 5. The Percentage Rate should be legibly written in figures as well as in words, in the space provided for Erasures or corrections in figures or in words, without Tenderers initials, will render the tender liable for rejection.

CHIEF ENGINEER



MORMUGAO PORT TRUST ENGINEERING (CIVIL) DEPARTMENT

QUOTATION NO. CE/Q - 58 (R2)/ 2021

Name of work"Repairs to the damaged portion of Mooring Dolphin No.3".

SCHEDULE OF QUANTITIES AND RATES

| Item No. | Description of Work | Unit of Qty | QTY | Rate at | Total |
|-------------|---|-------------------|----------|------------|---------------|
| | | | | | Amount |
| | | | | Rs Ps. | Rs Ps. |
| 1 | 2 | 3 | 4 | 5 | 6 |
| 1 | Scrapping & cleaning old paint from steel & other metal works incl. Wire brushing, preparing the surface for painting etc. All labour & material | | 40 | | 0.040.00 |
| | complete. | M2 | 42 | 70.00 | 2,940.00 |
| 2 | Repairs by welding, straightening, cutting etc. to the existing dismantled rods, repairs to bollards etc. including replacing corroded M.S. plates. All t&p etc. complete. | LS | 1 | 15,000.00 | 15,000.00 |
| 3 | Painting iron work/metal work (new) | | | | |
| | with two coats of approved synthetic enamel paint of approved colour/shades (excluding priming coat) including preparing the surfaces. All labour & material | | | 110.00 | 4,620.00 |
| 4 | complete. Drilling and fixing shear connectors 25mm dia holes and fixing with Lokfix S Polyester resin anchor grout with 20mm bolts as shear connectors etc. including dismantling of corroded rods / MS plates etc. All tools and Plants etc. complete. | M2 | 42 | 110.00 | 4,020.00 |
| | cto. 7th tools and 1 lants cto. complete. | | | 500.00 | |
| | | Nos | 20 | 500.00 | 10,000.00 |
| 5 | Applying anti-corrosive coating for rebars etc; mix the base and hardener of ZINC rich epoxy etc. | Litres | 2 | 900.00 | 1,800.00 |
| 6 | Epoxy Bonding Agent with NITOBOND EP etc for bonding old and new concrete etc. | 2.00 | <u>-</u> | | .,000.00 |
| | | M2 | 2 | 1500.00 | 3,000.00 |

| 7 | Providing RENDROC RG (micro concrete) shall be with 12mm downgraded chips by pouring in continuous operation with an approved grout mixer of slow speed etc .All tools, plant, labour and material etc. complete. | M3 | 0.23 | 1,35,000.00 | 31,050.00 |
|----|--|----|------|-------------|-------------|
| 8 | Providing & fixing shuttering for the beams, etc. of any size and shape including cleaning, oiling, closing, gaps, removing shuttering after concreting, provisions of necessary props, bracings and other supports etc. All labour and material etc. complete | M2 | 1.20 | 800.00 | 960.00 |
| 9 | Supplying & erecting in position structural steel work in single section including cutting, hoisting, fixing in position and cleaning the surface, painting two coats of approved quality synthetic enamel paint of approved colour / shade over a coat of red oxide zinc chromite primer etc. All tools, plant, labour & material etc complete. | Q | 5 | 19,000.00 | 95,000.00 |
| 10 | Transportation of men and materials to & fro by means of launch, boat, Tug etc; including hire charges, fuel, operators etc; all with safety equipments etc. to mooring dolphin No. 3 till the completion of work. All complete. | LS | 1 | 2,00,000.00 | 2,00,000.00 |

Total Rs. 3,64,370.00

| | i otai (A) | Ks. |
|--|---|------------|
| 'A' Total amount of quotation incl 1. ADD | lusive of all taxes (except GST) = "A" = Rs% (IN FIGURES) | |
| In words | | |
| Over the above amount at "A" i.e Rs | S | |
| | OR | |
| 2. DEDUCT In words From the above amount at "A" i.e. F | | |
| 'B' Total Quoted Tender Amount i | inclusive of all Taxes excluding GST | |
| In Figure – Rs. In Words Rupees | | Only |

NOTES:

- 1. Tenderers should score either "ADD "or "DEDUCT" as the case may be.
- 2. Tenderers are advised in their own interest to inspect the site before tendering.
- 3. The quantities given above in the schedule of Quantities and Rates are approximate and are furnished for the guidance of the tenderers.

| Witness's: | Tenderer's: | |
|------------|-------------|--|
| Signature: | Signature: | |
| Name: | Name: | |
| Address: | Address: | |
| | | |
| Tel No: | Tel No: | |
| Mobile No: | Mobile No | |
| Date: | Date: | |
| | | |